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12) Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb
1) EopÀN>H$ CËnÞ KmofUm ¶moOZm (VDIS) ...... ‘Ü¶o Omhra H$aÊ¶mV Ambr.

1) 1993-94 2) 1995-96 3) 1997-98 4) 1999-2000
1) The Voluntary Disclosure of Income Scheme (VDIS) was announced in

1) 1993-94 2) 1995-96 3) 1997-98 4) 1999-2000

2) {dÎmr¶ O~m~Xmar Am{U A§XmOnÌH$ ì¶dñWmnZ H$m¶Xm, 2003 (E’$ Ama ~r E‘ H$m¶Xm, 2003) Ago Z‘yX H$aVmo
H$s H|$Ð gaH$maZo ................ n¶ªV ‘hgwcr VyQ> Xÿa H$aÊ¶mgmR>r ¶mo½¶ Cnm¶¶moOZm H$aUo Amdí¶H$ Amho.
1) 2004-05 2) 2008-09 3) 2010-11 4) 2015-16

2) The Fiscal Responsibility and Budget Management Act, 2003 (FRBM Act, 2003) stipulates that

the Central Government must take appropriate measures to eliminate the revenue deficit by

1) 2004-05 2) 2008 —09 3) 2010-11 4) 2015-16

3) E‘AmaQ>rnr H$m¶Xm, 1969 aÔ H$ê$Z ñnYm© H$m¶Xm, 2002 Zo ~Xbbm d Vmo ...... nmgyZ bmJy H$aÊ¶mV Ambm.
1) 1 gßQ>|~a 2002 2) 1 gßQ>|~a 2005
3) 1 gßQ>|~a 2007 4) 1 gßQ>|~a 2009

3) MRTP Act, 1969 was repealed and replaced by the Competition Act, 2002 which is implemented

with effect from

1) September 1, 2002 2) September 1, 2005

3) September 1, 2007 4) September 1, 2009

4) 12 ì¶m {dÎm Am¶moJmZo amï´>r¶ AmnÎmr {ZdmaU {ZYrMr ¶moOZm H|$Ð Am{U amÁ¶m§À¶m ¶moJXmZmgh .......... À¶m à‘mUmV
Mmby R>odÊ¶mMr {e’$mag Ho$br.
1) 25:75 2) 50:50 3) 75:25 4) 90:10

4) The 12th Finance Commission recommended the continuance of the scheme of National Calamity

Relief Fund with contributions from the Centre and the States on the ration of .......

1) 25 : 75 2) 50 : 50 3) 75 : 25 4) 90 : 10

5) ...... {dÎm Am¶moJmZo Aer {e’$mag Ho$bobr hmoVr H$s 2011 À¶m OZJUZoÀ¶m bmoH$g§»¶oZwgma amÁ¶m§Zm AZwXmZ Úmdo.
1) n§Yamì¶m 2) Mm¡Xmì¶m 3) gmoimì¶m 4) Voamì¶m

5) Finance Commission recommended that grants should be distributed to states as per population

of 2011 census.

1) Fifteenth 2) Fourteenth 3) Sixteenth 4) Thirteenth

6) Am°JñQ> 1991 ‘Ü¶o ̂ maVmVrb H$a gwYmaUm {e’$magtgmR>r Imbrbn¡H$s H$moUVr g{‘Vr {Z¶wº$ H$aÊ¶mV Ambr hmoVr?
1) S>m°. amOm Oo. Mobæ¶m 2) E‘. Zaqgh‘
3) S>m°. gwI‘m°¶ MH«$dVu 4) S>m°. Am{~X hþgoZ

6) Which of the following committee was appointed to recommended tax reforms in India August

1991 ?

1) Dr. Raja J. Chelliah 2) M. Narashinhan

3) Dr. Sukhmoy Chakravarty 4) Dr. Abid Husen
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7) ^maVmVrb {dÎm Am¶moJ d AÜ¶j ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
       {dÎm Am¶moJ      AÜ¶j
A) n{hbm {dÎm Am¶moJ i) Ho$. g§VZm‘
~) Xþgam {dÎm Am¶moJ ii) Ho$. gr. {Z¶moJr
H$) {Vgam {dÎm Am¶moJ iii) S>r. nr. ìhr. amO‘Þma
S>) Mm¡Wm {dÎm Am¶moJ iv) E. Ho$. M§Xm
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii i iii iv

2) i ii iii iv

3) ii i iv iii

4) i iii ii iv

7) Match the Finance Commission of India and their Chairman.

     Finance Commission Chairman

a) First Finance Commission i) K.Santham

b) Second Finance Commission ii) K.C. Niyogi

c) Third Finance Commission iii) D.P.V.Rajmannar

d) Fourth Finance Commission iv) A.K. Chanda

Answer options :

a b c d

1) ii i iii iv

2) i ii iii iv

3) ii i iv iii

4) i iii ii iv

8) 15 ì¶m {dÎm Am¶moJmÀ¶m {e’$maerZwgma nwT>rbn¡H$s H$moUË¶m amÁ¶mMm 2021-22 Vo 2025-26 ¶m H$mbmdYrV H|$Ðr¶
H$am§‘Ü¶o gdm©{YH$ dmQ>m Agob?
1) ‘hmamï´> 2) ‘Ü¶ àXoe
3) Am§Y« àXoe 4) CÎma àXoe

8) As per the 15th Finance Commission recommendations which of the following State will have

highest share in Central Taxes during 2021-22 to 2025-26 ?

1) Maharashtra 2) Madhya Pradesh

3) Andhra Pradesh 4) Uttar Pradesh

9) 2019-20 Xaå¶mZ EHy$U H$a ‘hgwcmÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) CËnÞmdarb H$a ‘hm‘§S>i H$amnojm H$‘r hmoVm.
~) ‘hm‘§S>i H$amnojm dñVy Am{U godm H$a OmñV hmoVm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U ~ ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) Ho$di A ¶mo½¶ Amho 4) darbn¡H$s Zmhr
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9) Consider the following statements in the context of Gross Tax Revenue during 2019-20:

a) Taxes on income were lower than corporation tax.

b) Goods and Service Tax was higher than corporation tax.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Both a and b are correct 2) Only b is correct

3) Only a is correct 4) None of the above

10) YmoaU {ZpíMVr‘Ü¶o Imcrcn¡H$s H$moUr H$R>rU doi AmUcr Amho ?
1) g§gJm©À¶m cmQ>m§Mr nwZamd¥Îmr 2) nwadR>m - gmIir AS>Wio
3) ^mddmT> 4) darc gd©

10) Which of the following have created challenging times for policy-making ?

1) Repeated waves of infection 2) Supply - chain disruptions

3) Inflation 4) All of the above

11) 1997-98 nmgyZ ...... VwQ>rMm Agm {hñgm Omo ̂ maVr¶ [aPìh© ~±Ho$H$Sy>Z emgZmg {Xbm OmVmo Ë¶mg ‘w{ÐV VyQ> åhUyZ
AmoiIbo OmVo.
1) àmW{‘H$ 2) ‘hgwbr 3) amOH$mofr¶ 4) ^m§S>dbr

11) Part of ...... deficit provided by the RBI to the government is known as a monetised deficit since

1997-98.

1) Primary 2) Revenue 3) Fiscal 4) Capital

12) ...... ‘YyZ ì¶mO Xo¶H$ dOm Ho$ë¶mZ§Va àmW{‘H$ VyQ> àmá hmoVo.
1) ‘hgwbr VyQ> 2) ‘m¡{ÐH$ VyQ> 3) amOH$mofr¶ VyQ> 4) AW©g§H$ënr¶ VyQ>

12) Primary deficit is obtained by deducting interest payment from the

1) Revenue deficit 2) Monetised deficit

3) Fiscal deficit 4) Budgetary deficit

13) AZwÀN>oX 275 A§VJ©V {Xbr OmUmar AZwXmZo Am{U Ë¶m§Mo à‘mU ...... H$Sy>Z {ZpíMV Ho$bo OmVo.
1) {dÎm Am¶moJ 2) ZrVr Am¶moJ 3) Ama~rAm¶ 4) H|$Ð gaH$ma

13) Grants to be made under Article 275 and its quantum thereof is determined by

1) Finance Commission 2) NITI Ayog

3) RBI 4) Central Govt.

14) Imbrb {dYmZo {dMmamV ¿¶m …
A) ìh°Q> Xa Am{U {Z¶‘ amÁ¶mZwgma {^Þ AmhoV.
~) OrEgQ>r gd© amÁ¶m§‘Ü¶o EH$g‘mZ H$a àUmbr AmUVo.
H$) ^maVmZo EH$b OrEgQ>r ‘m°S>ob ñdrH$mabo AmhoV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) A Am{U ~ 2) A Am{U H$ 3) ~ Am{U H$ 4) darbn¡H$s gd©
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14) Consider the following statements :

a) VAT rates and regulations differ from state to state.

b) GST brings in uniform tax system across all the states.

c) India has adopted the single GST model.

Which of the statement/s given above is/are correct ?

Answer Options :

1) a and b 2) a and c 3) b and c 4) All of the above

15) Imbrbn¡H$s H$moUVr gmYZo H$aoVa CËnÞmer gmYZo AmhoV?
A) H$O© ~) XoUJr H$) ‘wÐm§H$ ewëH$ S>) ’$s
n¶m©¶r CÎmao …
1) ’$º$ A 2) ~ Am{U H$ 3) ¶mn¡H$s Zmhr 4) darbn¡H$s gd©

15) Which of the following are non-tax revenue sources ?

a) Loan b) Donation c) Stamp-duty d) Fee

Answer Options :

1) Only a 2) b and c 3) None of these 4) All of the above

16) Imbrbn¡H$s àË¶j H$a H$moUVo AmhoV?
A) g§nÎmr H$a ~) CËnÞ H$a H$) dmhZm§darb H$a S>) dñVy d godm H$a
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ 4) darbn¡H$s gd©

16) Which of the following are direct-taxes ?

a) Wealth tax b) Income tax

c) Tax on vehicle d) Goods and Services Tax.

Answer Options :

1) Only a 2) Only b 3) a and b 4) All of the above

17) àË¶j H$am§À¶m Xmofm§g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
A) àË¶j H$am§‘wio H$m‘mMm à¶ËZ nwadR>m H$‘r hmoB© eH$Vmo.
~) àË¶j H$a ~MV Am{U Jw§VdUwH$sgmR>r àmoËgmhZ H$‘r H$aVmV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 4) darbn¡H$s Zmhr

17) Consider the following statements in the context of demerits of direct taxes :

a) Direct taxes may reduce supply of work effort.

b) Direct tax reduce incentive to save and invest.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

18) OrEgQ>rMo H$moUVo à{V‘mZ ^maVmV AmUÊ¶mV Ambo Amho?
1) amï´>r¶ ñVamdarb OrEgQ>r 2) amÁ¶ ñVamdarb OrEgQ>r
3) Xþhoar OrEgQ>r 4) EH$mpË‘H$ OrEgQ>r
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18) Which model of GST has been introduced in India ?

1) National Level GST 2) State Level GST

3) Dual GST 4) Integrated GST

19) dñVy Am{U godm H$am§V H$moUVo H$a A§V ŷ©V Ho$bo AmhoV?
A) A~H$mar H$a ~) CËnÞ H$a 3) ‘yë¶d{Y©V H$a S>) godm H$a
n¶m©¶r CÎmao …
1) A ’$º$ 2) A, ~ Am{U H$ ’$º$ 3) A, H$ Am{U S> ’$º$ 4) ~ ’$º$

19) Which taxes are subsumed under GST (Goods and Services Tax) ?

a) Excise duties. b) Income tax. c) Value added tax. d) Service tax.

Answer Options :

1) a only 2) a, b and c only 3) a, c and d only 4) b only

20) amOH$mofr¶ ZrVrMr gmYZo H$moUVr ?
A) gmd©O{ZH$ ì¶¶ Am{U gmd©O{ZH$ H$O© ~) bmoH$emhr Am{U g§KamÁ¶mË‘H$ aMZm
H$) H$amamonU Am{U A§XmOnÌH$ S>) g§gX Am{U àemgZ
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ Am{U H$ ’$º$ 3) S> ’$º$ 4) A Am{U H$ ’$º$

20) Which are the instruments of fiscal policy ?

a) Public spending and public debt b) Democracy and federal structure

c) Taxation and budget d) Parliament and administration

Answer Options :

1) a only 2) b and c only 3) d only 4) a and c only

21) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo A¶mo½¶ Amho/V?
A) ¶wQ>rOrEgQ>r, H|$Ð gaH$ma Am{U H|$Ðem{gV àXoe gaH$mam§Ûmao Jmoim Ho$bo OmVmV
~) Am¶OrEgQ>r, H|$Ð gaH$ma Am{U amÁ¶ gaH$mao Jmoim H$aVmV
n¶m©¶r CÎmao …
1) ’$º$ A A¶mo½¶ Amho 2) ’$º$ ~ A¶mo½¶ Amho.
3) XmoÝhr A Am{U ~ A¶mo½¶ AmhoV 4) darbn¡H$s Zmhr

21) Which of the following statement/s is/are incorrect ?

a) UTGST, is collected by Central Government and Union Territory Governments.

b) IGST, is collected by Central Government and State Governments.

Answer Options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

CÎmao … 12) Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb

1-3 2-2 3-4 4-3 5-2 6-1 7-3 8-4 9-1 10-4
11-3 12-3 13-1 14-1 15-4 16-3 17-3 18-3 19-3 20-4
21-3


